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<Table 1 Test case specification identifier>

Identifier Tested Features | Input Output
Specification specification
CMS.STC.000.000 | M{E2 S& Al | waterSensor.txt( "Coffee Making.”
A IO M= water = 1000) (10%)
powderSensor.txt( “Coffee Making
powder = 10) finished"
beanSensor.txt(
bean = 100) waterSensor.txt(
water = 900)
Button : 0 powderSensor.txt(
Concentrate : 100 powder = 0)
Temperature : 1 beanSensor.txt(
bean = 100)
CMS.STC.000.001 | M= S& A waterSensor.txt( “Boiling.”(10)
St AL M= water = 1000) "Coffee Making.”
powderSensor.txt( (10X)
powder = 10) “Coffee Making
beanSensor.txt( finished"
bean = 100)
waterSensor.txt(
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Button : 1 water = 700)
Concentrate : 300 powderSensor.txt(
Temperature : 0 powder = 0)
beanSensor.txt(
bean = 100)
CMS.STC.000.002 | &5 =24 waterSensor.txt( “Grinding."(5X%)
water = 1000) “Coffee Making."
powderSensor.txt( (10X)
powder = 0) “Coffee Making
beanSensor.txt( finished"
bean = 100)
waterSensor.txt(
Button : 0 water = 900)
Concentrate : 100 powderSensor.txt(
Temperature : 1 powder = 0)
beanSensor.txt(
bean = 90)
CMS.STC.000.003 | CHZ| B Of | CHZ| SE Ot Al CH7| &Ef OF=2 Al
o A 2ol | AHO FE 27 = Ao =& =27t
2l
CMS.STC.000.004 | = &F A waterSensor.txt( “No water”
Ao M= water = 0) A8 TA st
powderSensor.txt(
powder = 10)
beanSensor.txt(
bean = 100)
Button : 1
Concentrate : 100
Temperature : 1
CMS.STC.000.005 | A5 BEF Al waterSensor.txt( “No Coffee beans”
Aol M= water = 1000) a2 Z2A 3
powderSensor.txt(
powder = 0)
beanSensor.txt(
bean = 0)
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Button : 1
Concentrate : 100

Temperature : 1

CMS.STC.000.006

100, 200, 3000
oo 5= 4

~
(=]

Button : 1
Concentrate : 240

Temperature: 0

"Coffee making is
failed”

CMS.STC.000.007

d(0), =(1) ol
Qo] 2k H

~
(=]

Button : 1
Concentrate : 100

Temperature: 3

“Coffee making is
failed”

CMS.STC.001.000 | & E&E waterSensor.txt( “Charging”
water = 0) “renewMaterial
powderSensor.txt( finished!!”
powder = 0)
beanSensor.txt( waterSensor.txt(
bean = 0) water = 1000)
powderSensor.txt(
Button: 4 powder = 10)
Water 1000 beanSensor.txt(
Powder 10 bean = 100)
Bean 100
CMS.STC.001.001 | Bt 0|42 waterSensor.txt( “Charging”
Mz 25 water = 500) "renewMaterial
powderSensor.txt( finished!!”
powder = 10)
beanSensor.txt( waterSensor.txt(
bean = 0) water = 1000)
powderSensor.txt(
Button: 4 powder = 10)
Water: 500 beanSensor.txt(
Powder: 0 bean = 1000)
Bean: 1000
CMS.STC.001.002 | Bt O &2 waterSensor.txt( “charging...”
M= B water = 1000) "warning!! water is
powderSensor.txt( overflow..”
powder = 10) "warning!! powder
beanSensor.txt( is
bean = 100) overflow..”
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Button: 4
Water: 100
Bean: 0
Powder: 10
CMS.STC.001.003 | = =tQl waterSensor.txt( water: 900ml|
water = 900) powder: Og
powderSeonsor.txt( bean: 100g
powder = 0)
beanSensor.txt(
bean = 100)
Button : 5
CMS.STC.001.004 | CHZ| &EH O] | CHZ| HEf O Al CH2l &Ef OtE Al
o Az =el | Mz EF =7t = Mz 25 =7t &
2l
CMS.STC.002.000 | M2 waterSensor.txt( “Cleaning.”"(10X)
water = 1000) "Cleaning is
finished”
Button: 3
waterSensor.txt(
water = 500)
CMS.STC.002.001 | & £F Al waterSensor.txt( “No water”
HAa water = 0)
Button: 3
CMS.STC.003.000 | AHI| A= reserveData.txt ( reserveData.txt
off of HolE 8i3) (Time = 11201619
Concentrate = 100
Button: 2 Temperature = 0)
Time : 11201619
Concentrate : 100
Temperature : 0
CMS.STC.003.001 | AL XM= reserveData.txt ( xR ¥8UU3
2RE oo HolH gis g) Atz HF
U e
Button: 2 reserveData.txt

Time: 13201619

(Time = 13201619
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Concentrate: 300 Concentrate = 300
Temperature: 0 Temperature = 0)
CMS.STC.003.002 | HA of of o7& o+
CMS.STC.003.003 | Of2f=l  A|ZHO]l | reserveData.txt( “Coffee Making”
NSRS R time = 11201701 "Coffee Making Fini
Hz= concentrate = 100 shed..!ll”
temperature = 0)
currentTime = 11201701 reserveData.txt(
HAHE ofef dlol
B A7)
CMS.STC.003.004 | Of|ef 2|AE reserveData.txt( "Number : 1
2ol Number : 1 time : 11201341
time : 11201341 concentrate : 100
concentrate : 100 temperature : 0"
temperature : 0"
Number : 2 “Number : 2
time : 11201345 time : 11201345
concentrate : 300 concentrate : 300
temperature : 1) temperature : 1"
Button: 6
CMS.STC.004.000 | ¥ B& Button : 0 TR0 Y IR
CMS.STC.005.000 | #m| 7+& g2 7|0 =EA | 82 7S 2L
M A o A
CMS.STC.005.001 | I 7t& 7m 7t& "otA= "Warning!
HUAS Al Button : 1 powder is remain.."
Ao M=z Concentrate : 100 A2 BA 2H
Temperature : 1
Test items

<Table 1 Test case specification identifier> &Z&
Input specifications
<Table 1 Test case specification identifier> &Z&

Output specifications
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<Table 1 Test case specification identifier> &ZX

Environmental needs

32bit cygwin & gcc SHA0|A A L|OjOf SHCY,

System test summary report

4.1 Test summary report identifier
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Identifier Tested Input Output Result
Features Specification specification
CMS.STC.000.000 | M= 1 | waterSensor.txt( "Coffee Making." Pass
Al water = 1000) (10X)
WO M= | powderSensortxt( | “Coffee Making
powder = 10) finished"
beanSensor.txt(
bean = 100) waterSensor.txt(
water = 900)
Button : 0 powderSensor.txt(
Concentrate : 100 | powder = 0)
Temperature : 1 beanSensor.txt(
bean = 100)
CMS.STC.000.001 | XM= =2 | waterSensor.txt( “Boiling.”"(10X) Pass
Al water = 1000) "Coffee Making..
gt IO A | powderSensortxt( | (10X)
= powder = 10) "Coffee Making
beanSensor.txt( finished"
bean = 100)
waterSensor.txt(
Button : 1 water = 700)
Concentrate : 300 | powderSensor.txt(
Temperature : 0 powder = 0)
beanSensor.txt(
bean = 100)
CMS.STC.000.002 | &5 224 waterSensor.txt( "Grinding."(5X) Pass
water = 1000) "Coffee Making.."
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powderSensortxt( | (10X)
powder = 0) "Coffee Making
beanSensor.txt( finished"
bean = 100)
waterSensor.txt(
Button : 0 water = 900)
Concentrate : 100 | powderSensor.txt(
Temperature : 1 powder = 0)
beanSensor.txt(
bean = 90)
CMS.STC.000.003 | CHZ|  &Efl | CH7| &EH OFE Al | CHZ| SE{ Ot2 Al | Pass
ol XH& | AL FE =7t & | AL FE =27t ¥
gtol ol ol
CMS.STC.000.004 | 2 £F Al waterSensor.txt( “No water” Pass
Aol M= water = 0) 22| A oA
powderSensor.txt(
powder = 10)
beanSensor.txt(
bean = 100)
Button : 1
Concentrate : 100
Temperature : 1
CMS.STC.000.005 | &5 2= | waterSensor.txt( “No Coffee beans” | Pass
Al water = 1000) a2 Z2A 3H
Ao M=z powderSensor.txt(
powder = 0)
beanSensor.txt(
bean = 0)
Button : 1
Concentrate : 100
Temperature : 1
CMS.STC.000.006 | 100, 200, 300 | Button : 1 "Coffee making is | Pass
0|?|e] &= | Concentrate : 240 | failed”
273 Temperature: 0
CMS.STC.000.007 | H(0), (1) | Button : 1 "Coffee making is Pass
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0| Concentrate : 100 | failed”
2|9] 25 | Temperature: 3
473
CMS.STC.001.000 | X& E&E waterSensor.txt( “Charging” Pass
water = 0) “renewMaterial
powderSensor.txt( | finished!!"
powder = 0)
beanSensor.txt( waterSensor.txt(
bean = 0) water = 1000)
powderSensor.txt(
Button: 4 powder = 10)
Water 1000 beanSensor.txt(
Powder 10 bean = 100)
Bean 100
CMS.STC.001.001 | Bt O]9 | waterSensor.txt( "Charging” Pass
Mz BE= water = 500) “renewMaterial
powderSensor.txt( | finished!!”
powder = 10)
beanSensor.txt( waterSensor.txt(
bean = 0) water = 1000)
powderSensor.txt(
Button: 4 powder = 10)
Water: 500 beanSensor.txt(
Powder: 0 bean = 1000)
Bean: 1000
CMS.STC.001.002 | ot O|&Q| | waterSensor.txt( “charging...” Pass
Mz EF water = 1000) “warning!! water is
powderSensor.txt( | overflow.”
powder = 10) “warning!! powder
beanSensor.txt( is
bean = 100) overflow.."
Button: 4
Water: 100
Bean: 0
Powder: 10
CMS.STC.001.003 | "= =tQl waterSensor.txt( water: 900ml Pass
water = 900) powder: Og
T3 10
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powderSeonsor.txt( | bean: 100g
powder = 0)
beanSensor.txt(
bean = 100)
Button : 5
CMS.STC.001.004 | CHZ|  SEH | CHZ| SEH OFE Al | CHZ| &FEff OFE2 Al | Pass
ol A3 | M=z EF =27t & | Mz EF 27t ¥
ztol ol ol
CMS.STC.002.000 | M waterSensor.txt( “Cleaning.”(10X) Pass
water = 1000) "Cleaning is
finished”
Button: 3
waterSensor.txt(
water = 500)
CMS.STC.002.001 | 2 £F Al waterSensor.txt( “No water” Pass
ESE water = 0)
Button: 3
CMS.STC.003.000 | HI| XM= reserveData.txt ( reserveData.txt Pass
off of HolH 813) (Time = 11201619
Concentrate = 100
Button: 2 Temperature = 0)
Time : 11201619
Concentrate : 100
Temperature : 0
CMS.STC.003.001 | AHIO| M= reserveData.txt ( e AHL(3 | Fail
EXE ol | HolH 813) g) Az HF
WYY
Button: 2 reserveData.txt
Time: 13201619 (Time = 13201619
Concentrate: 300 Concentrate = 300
Temperature: 0 Temperature = 0)
CMS.STC.003.002 | A of o| ¢ ol Fail
CMS.STC.003.003 | Ofl2F=l  A[ZF | reserveData.txt( "Coffee Making” Pass
of X& # |time = 11201701 | “Coffee ~ Making
| concentrate = 100 | Fini
IS temperature = 0) | shed.ll"
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currentTime =
11201701 reserveData.txt(
AHAHE o blof
B &)
CMS.STC.003.004 | 0f|f 2|AE | reserveData.txt( “Number : 1 Pass
2ol Number : 1 time : 11201341
time : 11201341 concentrate : 100
concentrate : 100 temperature : 0"
temperature : 0"
Number : 2 “Number : 2
time : 11201345 time : 11201345
concentrate : 300 concentrate : 300
temperature : 1) temperature : 1"
Button: 6
CMS.STC.004.000 | B B& Button : 0 Z2OH Fo F | Pass
=
CMS.STC.005.000 | AI| 7t& g2 s =g | g2 7Iso EF | Pass
XA A A
CMS.STC.005.001 | L[ 7+& 7O 7t& EOFRL | "Warning! Pass
HUAS Al = JEj powder is remain..”
o M= Button : 1 A2 BAH 2H
Concentrate : 100
Temperature : 1
Evaluation

2HZ FeItAN =EoiAt 2FALS MOHZ OfsishA] Xt =
T ooefrlsel Fo AN 7|EH Ox2=Z Hijz FHSHA| 2ot EE50| UL

Cygwinde| &&= Or% X|RSHA| Rt RACE
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